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QUESTION 1

Which statement describes the purpose of the Persistence Infrastructure Adapter? 

A. It translates high-level data requests to entity operations. 

B. It maps calls from façade classes to handcrafted process classes. 

C. It dispatches persistence events to their listeners. 

D. It binds Entity interfaces to replaceable implementations. 

Correct Answer: A 

 

 

QUESTION 2

Examine the following piece of code: 

curam.impl.MyProcess = curam.fact.MyProcessFactory.newInstance(); 

If curam.impl.MyProcess is defined as an abstract class as recommended, which statement is true? 

A. The code is incorrect because MyProcess should be from the base package. 

B. The code is incorrect because MyProcess should be from the intf package. 

C. The code is incorrect because the class curam.fact.MyProcessFactory does not contain a static method newInstance
(). 

D. There is nothing wrong with this code. 

Correct Answer: C 

 

QUESTION 3

You added a code to a code table. 

Which three build targets must you run so that the code displays on a client page? (Choose three.) 

A. client 

B. codetable 

C. database 

D. clean 

E. ctgen 
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F. implemented 

Correct Answer: BCE 

Reference: https://www.ibm.com/developerworks/community/blogs/5e15a5a7-d4d6-4880-bd9ce6819061a832/resource/
HandyGuideToCuramBuildTargets_v1.0.pdf?lang=en 

 

QUESTION 4

You can localize custom validations that are written in Java by using an external locale-specific properties file. 

Which two of the following are correct locale-specific properties files for such validations? (Choose two.) 

A. ErrorMessages_fr.properties 

B. ErrorMessages_US_en.properties 

C. ErrorMessages.properties_fr 

D. ErrorMessages_en_US.properties 

E. en_ErrorMessages.propereties 

Correct Answer: AD 

Reference: https://www.google.com/url? sa=tandrct=jandq=andesrc=sandsource=webandcd=10andved=2ahUKEwiqgq
eblIbnAhUFUhoKHdnbBnQQFjAJegQIAR
ACandurl=ftp%3A%2F%2Fftp.support.lotus.com%2Fsoftware%2Fsolutions%2Fcuram% 2F6.0.5.4%2Fen%
2Fpdf%2FCuramWebClientReferenceManual.pdfandusg=AOvVaw3fE5ixnkYGZfQVHWmATNNA 

 

QUESTION 5

Consider this warning in the source code editor when EmployerFactory is referenced: 

"Discouraged access: The type EmployerFactory is not accessible due to restriction on required library
EJBServer/components/core/lib/core.jar." 

Which annotation is EmployerFactory declared with? 

A. @AccessLevel(DEPRECATED) 

B. @AccessLevel(INTERNAL) 

C. @AccessLevel(EXTERNAL) 

D. @AccessLevel(RESTRICTED) 

Correct Answer: D 

 

QUESTION 6
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You are asked to implement a feature that checks client eligibility. The feature should be executed from a page.
However, the time to perform the eligibility check may take longer than the accessible waiting time for users. 

Which type of process should you use to implement the feature? 

A. Timer. 

B. Deferred. 

C. Event. 

D. Batch. 

Correct Answer: D 

 

QUESTION 7

Which two tasks do you need to perform to ensure that the script loads the next time the database is built? (Choose
two.) 

A. Copy the IEG script into your custom DMX file. 

B. Copy the IEG script to your custom DMX file to reference the script. 

C. Modify the entry in the custom DMX file to reference the script. 

D. Replace the IEG script in the OOTB folder with the custom script. 

E. Load the IEG script to the APPRESOURCE folder. 

Correct Answer: BE 

 

QUESTION 8

In the screenshot below, what type of application navigation element can be expected to correspond with the element
highlighted in red? 
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A. Section. 

B. Menu. 

C. Tab. 

D. Navigation Tab. 

Correct Answer: B 

 

QUESTION 9

Which statement about customizing code table items in a way that avoids conflicts during future upgrade is true? 

A. Continue the sequential names for the code items that already have been chosen by IBM. 

B. Update the code table item in the out-of-the-box (OOTB) file. 

C. Choose code item names that have different letter prefixes to any existing names. 

D. There is no limit to the length of the table item name. 

Correct Answer: C 

 

QUESTION 10
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Examine the below message definition. What is the result when the runtime locale is set to fr_CA? 

A. Washroom. 

B. Lavatory. 

C. Restroom. 

D. An error is displayed. 

Correct Answer: A 

 

QUESTION 11

Which two values are valid for he MODE attribute of the MENU element? (Choose two.) 

A. EXPANDABLE 

B. IN_PAGE_NAVIGATION 

C. TRUE 

D. FALSE 

E. WIZARD_PROGRESS_BAR 

Correct Answer: CD 

 

QUESTION 12

Which task is valid when developing REST APIs in IBM Cúram SPM 

A. Run `build database\\' whenever you modify ResourcesConfig.xml. 

B. Define operations of type in a class of type . 

C. Document the structs and operations in ResourcesConfig.xml so that the documentation appears in Swagger UI. 

D. Specify the mandatory fields in the model. 

Correct Answer: D 
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Reference: https://www.ibm.com/support/knowledgecenter/SS8S5A_7.0.9/com.ibm.curam.content.doc/
MSDK/msdk_t_add_mandatory_fields.html 

 

QUESTION 13

You made a change to application navigation artifacts. 

Which two build targets ensure that the runtime behavior of application navigation accurately corresponds to what has
been configured? (Choose two.) 

A. build generated 

B. build database 

C. build navconfig 

D. build inserttabconfiguration 

E. build clean client 

Correct Answer: AB 

 

QUESTION 14

Which two class types can be modeled in IBM Cúram SPM? (Choose two.) 

A. default 

B. rest 

C. batch 

D. inboundprocess 

Correct Answer: D 

Reference: https://www.ibm.com/support/knowledgecenter/SS8S5A_7.0.9/com.ibm.curam.content.doc/
ServerModelling/ctr_CuramServerModellingGuide.html 

 

QUESTION 15

A UIM page in the custom component contains the following SCRIPT element: 

In the web client application is installed in , which folder should you use to store MyJavaScript.js file? 
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A. \components\WebContent 

B. \components\custom\javascript 

C. \components\custom\WebContent 

D. \components\javascript 

Correct Answer: B 

 

Reference: https://www.google.com/url?
sa=tandrct=jandq=andesrc=sandsource=webandcd=1andved=2ahUKEwjLgPfppYbnAhUJhRoKHUo8BoEQFjAAegQIAx
ACandurl=ftp%3A%2F%2Fpublic.dhe.ibm.com%2Fsoftware%2Fsolutions%2Fcuram% 2F6.0.5.0%2Fen%
2Fpdf%2FDevelopers%2FCuramWebClientReferenceManual.pdfandusg=AOvVaw3-Zdp41RwPJ82gQTIodpu 
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